10

1071

Ratio to Pythia 6.428 346

0.5

19

A
ACNK
AN 7
A
7

60 GeV ppbar

----- 7 Pythia 6.428 346

pT (ttbar) (dy < 0)

Top (parton level)
LA I B

Rivet 3.1.10, = 3.2M events

Pythia 6.428 347 ':_: =

Pythia 6.428 348 15

Pythia 6.428 349 -

—A— Pythia 6.428 370 =

| | | | | | | | | | | | | | | I T IE

T T T T | T T T T | T T T T | le I:

A =

Ex _

I ] -

B I _

| 1 T _

| " 1 1 " 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | 1 " 1 1

0 100 200 300

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


